= A
N = 0] &F AF S & AN A
20228 = 20l A LEHSH KR =&
EXN: =&
B AR (NASE D)
ch: JI24dd| (2 &HH)
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
A& =& 19,420,659 14,115,566 5,305,093
= 1,725,111
& 228,947
Al 17,466,601
HHSAHAY (NR=81) 24,784 0 24,784
Jl2dHl 24,784 0 24,784
Jl2 &4l 24,784 0 24,784
201 et Y| 10,984 0 10,984
01 AP 22| d| 10,984 0 10,984
Ogbt=2H| 2,920
—J|2AIfE 34| 30,000%14H 420
A=A AP 20,000%x53& 100
— A28 EZF2YHY| 60,000%12& 720
— AL ez 40,000%12& 480
—NEREE 10,000+582 «12€ 600
— A2 =4H| 50,000%12& 600
OgRFA Z ]| 8,000%x14H x6A! 128 8,064
202 04| 8,000 0 8,000
01 2L HI 8,000 0 8,000
O28 2ol 8,000,000 8,000
203 €2 F=&d| 4,600 0 4,600
03 AIZH =X 2 F XY 1,000 0 1,000
OXd=s 243 HEFXN 1,000,000 1,000
04 EASHEYRFAH| 3,600 0 3,600
OEMSIELEF=8H| 300,000+12& 3,600
204 2R 4= A H| 1,200 0 1,200
01 MEEZHR2 LAY 1,200 0 1,200
O1t&E 100,000%12& 1,200
2S¢ A #8 ¥ 15,561,810 12,021,337 3,540,473
= 905,360
=} 125,072
Al 14,531,378
22 =M 83 x4 1,477,220 965,880 511,340
= 625,360
= 125,072
Al 726,788
SHOIE XS MEAE 1,400,220 892,880 507,340
= 625,360
& 125,072
Al 649,788
402 SI2HXHE0| ™ 1,400,220 872,280 527,940
= 625,360
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MM 29 B 8 Y
ool 2R F) &Y X4 CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 125,072
Al 649,788
03 212t &AL S HI 1,400,220 872,280 527,940
OZd0lE HMel XNJAAMG(FH)
1,108,800, 000 1,108,800
= 554,400
< 110,880
Al 443,520
OsdiolE HMel NIMG(HLAHE =8 XS
HE) 87,920,000 87,920
= 43,960
< 8,792
Al 35,168
OZd0IE HMal XN2A[LBItr tEHE F
e X SHE] 62,500,000 62,500
OZd0lE HMel XNJAMS (= 2)
141,000, 000 141,000
= 27,000
< 5,400
Al 108,600
e3oo ¥ B B4 77,000 73,000 4,000
301 LEAZ 17,000 13,000 4,000
12 JIEtE4 3 17,000 13,000 4,000
OXHII M 243(A 2€3) 5,000,000 5,000
Oglztol stZded M Loz 2,000,000 2,000
O=Fgits sl XN (=HANXSHOIEZ)
10,000, 000 10,000
402 BI2FX=0l M 60,000 60,000 0
01 2I2F 2 A B (KR ) 60,000 60,000 0
O=Fgits SXNSEMAH (=& AKX EHOIA
2) 60,000, 000 60,000
Mol 2g F4A 13,939,421 10,920,771 3,018,650
= 280,000
Al 13,659,421
MEHIE =28 HE ALY 12,600,820 9,625,981 2,974,839
101 @124l 3,820 2,981 839
M4 I12HHZ22NSES 3,820 2,981 839
OFAHELH HI Al 3,820
—Jles 77,360%8H x5 3,095
— =5 77,360+8H 1 619
— 108 L UHEER 105,820 106
207 A RO H| 18,000 0 18,000
01 289 18,000 0 18,000
ONeas WY 48 A8
18,000, 000 18,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 12,559,000 9,623,000 2,936,000
05 RIZHRI & 3 12,559,000 9,623,000 2,936,000
OAl EXd(32S MA)HEL2UHEH (=T 28,
IEE L) 11,673,000, 000 11,673,000
SSS FAUE A 800,000, 000 800,000
oMYl ZEH =5 ths H&dl 86,000,000 86,000
401 Al HI YL = TH Yl 20,000 0 20,000
01 A& Bl 20,000 0 20,000
Ostzdilsta =X 2 20,000, 000 20,000
MEHIIES Fazel 547,906 541,402 6,504
101 @144 dl 58,716 55,872 2,844
04 DIt Z2XEES 58,716 55,872 2,844
O3&XZEHl 2] 58,716
— Q24 H| 81,600%10H »x70 57,120
—B82 8 1,596,000 1,596
201 Let24E] 13,030 13,030 0
01 At 221l 13,030 13,030 0
ollezzgs & NHdsEs N&E 6,880
—&dAFE 2,000%2007H 63l 2,400
— Ot & 5008, 0000H 4,000
—P3E X 400%2002 cll x63] 480
OomJlEad F1&AN 10,000+5& 23] 100
O=oiMgd & HBE AR LIt
400,000%12 4,800
OYXMY I HIISHERES 50& 15,000 750
OMeHIIEs Fazel 29gtl 500,000 500
308 XXM SOIA 476,160 472,500 3,660
12JIEtRE3 476,160 472,500 3,660
QUEHIIS (%M, HEHIIZ) M2
fE3 31,000& x15,000& *1.024 476,160
ot&d Y otME Il FEaY 400,000 400,000 0
= 280,000
Al 120,000
101 124 dl 156,344 156,344 0
= 109,441
Al 46,903
4 JI12ZtHZ22HEE =+ 156,344 156,344 0
Oodtd - ot B4 oI
73,280%48% x40 140,698
= 98,489
Al 42,209
O+ & 2E8& 15,646,000 15,646
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= 10,952
Al 4,694
206 M= Hl 12,000 12,000 0
= 8,400
Al 3,600
01 =8l 12,000 12,000 0
OGSt - ot E2RMAYI =AHES7L
12,000, 000 12,000
= 8,400
Al 3,600
401 Al HI K 201 I 231,656 231,656 0
= 162,159
Al 69,497
01 A& HI 230,000 230,000 0
OGSt - ot 2RMAHI =AHAXel ALY
230,000, 000 230,000
= 161,000
Al 69,000
03 AlE 2 THHI 1,656 1,656 0
Oot& - ot7 2RMHI =AY
230,000,000%0.72% 1,656
= 1,159
Al 497
Mol SEH A 339,115 329,208 9,907
201 L2l 1,000 10,700 A9,700
01 At 22l 1,000 10,700 A9,700
OXEIIESEM #ASFEIA 2HEHE
50,000%20H 1,000
206 M= Hl 338,115 318,508 19,607
01 =8l 338,115 318,508 19,607
oM JIsEdM #ASE MA 266,310
—2otE 86,570
- 54 31%80,0000H 2,480
104 38+120,0000H 4,560
204 57%90,0000H 5,130
- 504 124%600, 000 0K 74,400
— MAE 166,200
104 41%800,0000H 32,800
204 582,300, 0000H 133,400
—538 13,540
204 57%20,0000H 1,140
504 124%100, 000 0K 12,400
OIWNzME>=NESE SEME(204 )
57+100,0000H 5,700
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a2 Sy Hm A
Sl Myl 2y =X (sl &2)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
OSASMY D M 28 7Y 13,500
— 54 ,20¢ ,604 ,1208 30%450, 000K 13,500
OsS Tl & B 4,825
— Y23 sm(5 ,200 ,604 ,1204 )
3,000,000 3,000
— 51 115,000 1JH 115
— 104 ,HAFE 104 140, 000%2JH 280
—20¢ , THAtE 200 , 332 204
210,000*3 4 630
— 504 =358 504 400,000*2H 800
OXNsAXEI P 400,000*754 30,000
OSAEXH D] =HED 7Y 39,000%430H 16,770
OSAE UEHHESAIEE B & M 1,010
— 120¢ 38%10, 0004 380
— &8s 630*1,000H 630
HEI 5 NS 51,580 24,180 27,400
201 LEt2 Y| 8,880 3,180 5,700
01 AP 22l Yl 7,200 1,500 5,700
ORHEI 2K &2 M= 110,000%20 & 2,200
OFAHME JRF=X Z S| 3,000,000 3,000
ORSEI ZAI2HH 2 #=2lb] 2,000,000 2,000
02 =294l 1,680 1,680 0
OMY Il RHEI ZAIM02H MIIL3
10,000% 1401 A %12 1,680
202 04t 7,200 0 7,200
BIETEI 7,200 0 7,200
OBASMY ASEX 0fY]
20,000%58 x4 x12& 4,800
OSHEI| YLEX OfH (22F)
20,000 1H*10 x12& 2,400
301 deEtE2dZ 1,000 2,000 A 1,000
12 JIEtE &2 1,000 2,000 A 1,000
OMY Il RPHEIAND ZAZS 1,000,000 1,000
401 Al HI L RO 14,500 19,000 A 4,500
01 A& HI 14,500 19,000 A4 ,500
Ok: RHE) Z0H WEY 14,500
—FHE) FNE NRAEX 500,000%20 10,000
-4 RUE) 2N B4 150,000%30 4,500
405 XtabF SHI 20,000 0 20,000
01 A&t =S F St 20,000 0 20,000
ORSED @2 0|4 Itdet 7
4,000,000%5CH 20,000




SH: RREED
Hu: 2@ 233 #N BH
SOl BPA AHNT 29
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(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
A A0HS 29 22 145,169 134,686 10,483
NHES HE & E8ES 7,740 9,520 1,780

201 et d| 2,700 2,800 A 100
01 AP 2t 2| bl 2,700 2,800 A 100
OXEs 22 849 H& 110,000% 1074 1,100
OHA=&EALE p-plttH 2 400, 000401 2~ 1,600
202 044 5,040 6,720 A 1,680
01 2L Y| 5,040 6,720 AN 1,680
OMEINESAREA ot
20,000%3H x7 x12& 5,040
IMNE AHA = 22 137,429 125, 166 12,263
101 2121 4| 134,229 123, 166 11,063
04 JIZtHIZ22XNSE S 134,229 123, 166 11,063
OAH= =28 AHd|l & FA oAy 134,229
- Jl=22 81,600%x28% x44! 100,532
FEY 81,600%x28% 9L 20,564
— 8282 13,132,860 13,133
201 LBt 9| 3,200 2,000 1,200
01 AP 22| H| 3,200 2,000 1,200
OYA 40H= EYHED| =2 M
110, 000%20H 2,200
OYEA 4U0H= E3A AR 2
250,000%4JH 2~ 1,000
X e 389,480 171,140 218,340
= 34,800
== 23,840
Al 330,840
N =8 oZe 2x 389,480 171,140 218,340
= 34,800
= 23,840
Al 330,840
MEZ JI=AE &X 223,060 49,420 173,640
= 30,000
Al 193,060
201 et 27,680 18,920 8,760
01 AP 2t 2| H| 2,000 0 2,000
OMeE g2=X = 2| 2,000,000 2,000
02 Z2=2=2494| 25,680 18,920 6,760
OeZXs H/HEYE XINs£HI SAES 21,600
— QZEXs H/HEY UHsSx=HDI —E—%‘HI
300,000%6H A~ %12 21,600
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
OeZEXs W/HEYE N=s=HI| SRS
240,000+ 12& 2,880
OeZBXs HW/HEYE N==HI| &II2S
100,000%12& 1,200
202 O4dl 2,880 0 2,880
01 = LH 4 Hi 2,880 0 2,880
OMeE Y2=& WHl  20,000+x3F «4L«12& 2,880
206 = Hl 12,500 17,500 A5,000
01 MHZ 8l 12,500 17,500 A5,000
ONMe&EsE 2e=Hg ¢ 500,000* 152 7,500
OHg&s =Hg ¢ 200,000+ 102 2,000
OHAEX =g 2 300,000%10% 3,000
401 AIEHI L 20 180,000 13,000 167,000
= 30,000
Al 150,000
01 A& Bl 180,000 13,000 167,000
ounMassuorg X 15,000, 000*4 4! 60,000
2 30,000
Al 30,000
O3Xs H/HEY XNs=HI| e £ &X
30,000, 000 30,000
O&Is SeldtA JHAY 10,000, 000 10,000
O=ss FEHUAL SeotRA HUIAY
80,000, 000 80,000
Heg8 2cl=AH X 93,700 70,000 23,700
= 3,000
< 3,000
Al 87,700
201 Let24E] 9,700 0 9,700
01 At 22l 9,700 0 9,700
OH2%E Mel =2 1,200,000 1,200
OUEHIIE dXNBM =2 8,500,000 8,500
301 LBEAZ 84,000 70,000 14,000
2 3,000
< 3,000
Al 78,000
12 JIE2 43 84,000 70,000 14,000
Ol1zl83 A4 D Za3 500,000 500
ORIEIIEES3 Bte HR 1 Za3z
500,000 500
OdaMy) HEES 2cl=H =
40,000,000 40,000
OZsHIIE =13 30,000, 000 30,000
= 3,000
< 3,000
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I3 U NEs
& U =8 ot 25 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 24,000
OZsHIIE =HEHAS(AHl FIt)
5,000, 000 5,000
OZS=8 HEES ZclthE 22U HdH3
8,000,000 8,000
Ssdoty &5 A& 6,000 15,000 A 9,000
= 1,800
< 840
Al 3,360
401 Al HI K 2018 6,000 15,000 A 9,000
= 1,800
< 840
Al 3,360
01 A& HI 6,000 15,000 A 9,000
OdsHII= Esdotd &Xdl 6,000
—3sdotE &X 6,000,000 14! 6,000
= 1,800
< 840
Al 3,360
OOl AT THAtS 243 ALY 40,000 0 40,000
< 20,000
Al 20,000
307 21201 A 40,000 0 40,000
< 20,000
Al 20,000
02 It S AIHE L 40,000 0 40,000
OO0t0l AT THAIE 243 XI& 40,000,000 40,000
< 20,000
Al 20,000
MHesEUsd3H 22284 10,000 20,000 A 10,000
307 glz2tol & 10,000 20,000 A 10,000
02 It MAHE X 10,000 20,000 A 10,000
ONsZH 22224 29 10,000, 000 10,000
Mo Z2E 22 2 1= 16,720 16,720 0
201 Let2d] 3,000 3,000 0
01 At 22l 3,000 3,000 0
oMl Z2& 822 A 3,000
— 13 EBAE AW MAESE AEFEBS(
oA HEE) 100,000%30H 2~ 3,000
202 04l 6,720 6,720 0
01 = LH 4 Hi 6,720 6,720 0
OmYIs2elg =& ol
20,000x4F 7L 123 6,720
307 21201 A 7,000 7,000 0




2N =2

I3 U NEs
& U =8 ot 25 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 7,000 7,000 0
OHXE =828 N (A3 8% HIIS
ol H Il 2 7,000,000 7,000
A3 AlE 4X Lt 1,020 1,020
HII=2XM2AE &X 1,020 1,020
HIIS™M2AIE FHASE FAXNFE2AM 29 1,020 1,020
201 Let24dy] 1,020 1,020
01 At 22/l 1,020 1,020
OFCUXNJEAN 312 425 7¢
220,000% 14 220
OFUXNJEAN H&X AS HA XS
800,000+ 1CH 800
o Y MEEH e 3,148,097 1,225,008
= 784,951
< 80,035
Al 2,283,111
AoiEE 2tel 1,052,000 1,052,000
= 721,000
Al 331,000
oEy 2A 2,000 2,000
301 LPEAZ 2,000 2,000
09 HALAHIXI &3 2,000 2,000
OXNHSFEAN HAX HAS(NABSESLHAN)
AKX 2 1,000, 000%23] 2,000
AHME SRAAS 1,050,000 1,050,000
= 721,000
Al 329,000
401 A& HIZ 201 I 1,050,000 1,050,000
= 721,000
Al 329,000
01 A& HI 1,046,292 1,046,292
OME Z0t CAMEHSZSANY ALY B
1,026,292, 000 1,026,292
= 718,405
Al 307,887
oZedE =s. S MEHERAAY BHEHX
Y D2 29 20,000, 000 20,000
03 A& S THHI 3,708 3,708
OME Z0t CAMEBHSZSANY ALY BY
Sl 3,708,000 3,708
= 2,595
Al 1,113
Ord s - AlE 2el 615,308 149,670
= 63,951




o XHH

S
o U MEEZ B2
ME - A2 B

= _ — d =
K- ZE SR (3) - HRAY - BaS 0l &t o il HImEET
< 78,235
Al 473,122
M==2 I oH 0l AL 428,919 269,416 159,503
= 28,951
< 63,129
Al 336,839
201 ¢4l 110,800 10,800 100,000
< 25,000
Al 85,800
01 At 2t 2l 110,800 10,800 100,000
OOfMsSE0 28t sHE S Wl ZAL =8
270,000%40A 10,800
ORHOIMESE AIME2 &1 Xz
6,000,000 6,000
< 1,500
Al 4,500
OfdiordES 2 ALMIX 2/l 94,000, 000 94,000
< 23,500
Al 70,500
206 M= Hl 7,000 7,000 0
01 MHZ 4l 7,000 7,000 0
ORdiOId=s=E 28 225 722 7,000,000 7,000
301 EEd = 218,119 166,550 51,569
< 34,529
Al 183,590
12 JIEBHE4 = 218,119 166,550 51,569
ORNOFMSE0 AT sHS(AUH)IHS 4
50,000, 000 50,000
< 12,500
Al 37,500
ORdiMESE X243 76,061,000 76,061
< 19,015
Al 57,046
OROIMEESE HolEXNE EHZ XNSAS
12,058,000 12,058
< 3,014
Al 9,044
ORI sSE 22l &s| 80,000, 000 80,000
401 Al HI R 201 I 1,000 0 1,000
01 A& HI 1,000 0 1,000
ORiOtdESE Z&E =2l 1,000,000 1,000
402 RIZEX20| A 80,000 34,860 45,140
= 28,951
Al 51,049
02 LA TEAILEZ(0IETHR) 80,000 34,860 45,140
OOt == Tl off O & AF 80,000, 000 80,000
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Bu: N Y MEHZ
Hel: OFMS - AlE 22 fEH)
S B G(SA) - NRANY - BES il 2
= o505 1
Al 51,049
405 XHoHF S HI 12,000 0 12,000
< 3,600
Al 8,400
01 et = FH 12,000 0 12,000
SIEEE HolMItnle 7Y
12,000, 000 12,000
=) 3,600
Al 8,400
OrM=E 235 At 82,181 50,000 32,181
=2 10,000
< 15,106
Al 57,075
101 14 Hl 77,149 0 77,149
2 9,700
= 14,436
Al 53,013
04 D12t 22 Xt 77,149 0 77,149
OOfdME 23 46,657
—JlZs 73,280%2H %228 33,416
& 8,354
Al 25,062
— 5,84 73,280%2H «61 8,941
=) 2,235
Al 6,706
— 28z 4,300,000 4,300
& 1,075
Al 3,225
OSFMEIZE = 11,087
—Jl=s 73,280%4H 20 8,501
< 2,125
Al 6,376
-F58.9 73,280*4H x5 1,466
< 367
Al 1,099
— 28z 1,120,000 1,120
< 280
Al 840
OME A wSMS MAH At £ 19,405
—Jl=s 73,280%7 3«28 14,363
= 7,180
Al 7,183
—F5. 80 73,280+7H x6 3,078
= 1,539
Al 1,539
=== 1,964,000 1,964
=2 981
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OOMMME 25 849 M&E S 1,000,000 1,000
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< 670
Al 1,562
206 M= Hl 1,800 0 1,800
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OntdssE »xE35 ¢ 600,000 600
OHdE A wetME HMAH 2 ¢ 600,000 600
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= 25,000
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101 @124l 2,208 41,496 A 39,288
04 JIZHHZ2Z2XNSE+ 2,208 41,496 A 39,288
O EMNH AAX ZHIDl o2 2,208
—Jles 179,760+321 x2 & x23] 2,158
—E8= 50,000 50
201 ¢er24l 52,000 7,000 45,000
= 25,000
Al 27,000
01 At 2t 2l 52,000 7,000 45,000
O2EZINE BERSS £4 222 X 2 =
2Hl S 34,000,000 34,000
= 17,000
Al 17,000
OZERINT BEsZAXE Xl
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OEERIIS e 28H & 22
1,600,000 1,600
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O&l4 HIE SMH MARX ¥XtE 2,000,000 2,000
401 AIEHI L 2 CHYI 50,000 3,000 47,000
01 A& HI 50,000 3,000 47,000
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206 TH 2 I 32,400 35,400 ~3,000
< 1,800
Al 30,600
01 ME bl 32,400 35,400 3,000
O3sstZa 22l ZZHSSE P (502 )
5,400,000 5,400
OTESEY Lo ARS(SFEX, MEH)R
e 4,000,000+23| 8,000
OZTES Y Ite 22F(3ENE S) 7
500,000+ 127 & 6,000
Ofizbjgstdal Nd AUSS(SAFX &) 7
el 6,000,000 6,000
< 1,800
Al 4,200
O3=TA ZHS(LEDUAEY) 7Y
30,000 1004 3,000
OBsstZa E48 810 2 200,000%20H 4,000
307 2I2+01 ™ 675,000 675,000 0
05 BItIEr 3 675,000 675,000 0
O3&s& 4 A28 (1008 N7, 18794 L)
650,000,000 650,000
OZETA 2aHelAE AS2eld (200H2)
25,000,000 25,000
401 AIEBI L2 0H ] 551,890 553,169 ~1,279
01 Al &t 550,000 550,000 0
O3y oI5 50,000, 000%2H 100,000
O3z W= 60,000,000%2H 4 120,000
O-23=azd U= 20,000, 000+37H 2 60,000
OB 472 &4 1,000,000%200H £ 20,000
OZ=sTA c=2+HelAE nH
50,000, 000%37H 2 150,000
O3ssy4 3574 30,000,000 30,000
Odt+=Hel Pl 353 Fotx &I
10,000,000%57H £ 50,000
O#AE OlSAStZH 2 4,000,000%25 8,000
O 253tz BoANE &5 12,000,000 12,000
03 Al & S Tl 1,890 3,169 ~1,279
OAl&= il 300,000, 000%0.63% 1,890
Negs(Haza) 295,468 0 295,468
WX = 295,468 0 295,468
WX & 295,468 0 295,468
70201238ES 295,468 0 295,468
01018853 295,468 0 295,468
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2,954,680,000*10% 295,468




